IINT AR

e LEN HEFELAIH L 722500 HF C DN TE
Faﬁ@ﬂ?%]\;@% HEL-EZ A, FEIFE
105kg, ERIEE(RE3R0kg TH > 7-c EED
1 HFEHT- Y OFITKEAEZN103kgTH 5
NE D HhAE. BEAKESY THRTEHE L




INT R NERE ]

JmiERGEY  Ho: po = 103, AEKE 5% (a=0.05)
n = 2500, s=238.0& LT,

EKYE 5 % D FEAIIT
38.0 38.0
Z < 103 — 1.96 x , 1034 1.96 X < I
V2500 V2500

T 726, £ <101.51, 104.49 < z

PEASELEOAE £ = 105 [ZZFEHIHIT A > TWDH DT, AEKYED % TR
IR SN D, T7b6, P REARIT 103kg TiXZRW, EHEmOT 5
2,



BREMAEDIEXIE2.63&,

BEKESWDREERL1.IGEFTLEILT,

BREMTEDHEMEDEDTMNKRESLIDT,
IR REREEHT 5.

pfiE:0.0085
(0.05KYHrR/IMELY p<0.01)




	小テスト
	小テスト解答１
	小テスト解答２

